

# Penthouse in Mosta



**Mosta, Central**



**€425,000**

Reference No: 240091040-617

 Total Rooms: **5**

 Floor Area (m<sup>2</sup>): **179**

 Bathrooms: **2**

 Bedrooms: **2**

# Penthouse - For Sale - Mosta

Mosta - A lovely 2 Bedroom Penthouse located in Mosta, being tucked away in a very good area and is being offered in a finished state excluding bathrooms and internal doors. This spacious property comprises of an open plan kitchen/ living/ dining, 2 double Bedrooms, family bathroom and guest bathroom and an amazing front terrace complimenting the spacious open plan. The block is served with lift is offered Freehold and built by end 2026. Contact an agent for a viewing!

## Features

- ✓ Lift
- ✓ Gypsum Plastering
- ✓ Terrace
- ✓ Video Intercom
- ✓ Entrance Hall
- ✓ Double Glazed
- ✓ Air Space

## Rooms

- ✓ Open Space : 3.03 x 4.71 m (14.27 m<sup>2</sup>)
- ✓ Kitchen/Living/Dining : 5.43 x 4.71 m (25.58 m<sup>2</sup>)
- ✓ Bathroom : 0.9 x 2.49 m (2.24 m<sup>2</sup>)
- ✓ Landing : 2.1 x 6.22 m (13.06 m<sup>2</sup>)
- ✓ Bathroom : 1.79 x 1.48 m (2.65 m<sup>2</sup>)
- ✓ Double Bedroom : 3 x 3.92 m (11.76 m<sup>2</sup>)
- ✓ Double Bedroom : 4.03 x 3.31 m (13.34 m<sup>2</sup>)

# Gallery





**Pierre Borg**

RE/MAX Crown - Sliema

M: 99499337

E: pierre@remaxcrown.com

T: 21342410

**RE/MAX Crown - Sliema**

166, 169, Tower Road, Sliema, Malta